EXTRA STOKES




One can never do too much work!




We could find the work done by the vector field by
evaluating it along each path.
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We could find the work done by the vector field by
evaluating it along each path.
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We could find the work done by the vector field by
evaluating it along each path.

F=—yi+x]
C=C.+C.+C ' C;: x=0 dx/dt =0
1 2 ’ y=1-t dy/dt=-1
oo Z=—X-y+1 ) )
7 C Z=1 dZ/dt—l
D 0<t<1
C, (0,1,0)
_51 I /71 If d_} Pd d Rd
(1,0,0) C, ICS odr = . X + Qdy + Rdz
\ VTD S
S N N

|

1
[(-1+11-0+0--1+0-2)dt =0
0



We could also evaluate the work done by the vector field by
evaluating it along each path.

F=—vi+X]
C=C,+C,+C,
(010,1) Z=—X—-Yy+1
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We could also find the work done by using our more
familiar version of Stokes’ Theorem.
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